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Estrel, Berlin, Germany
Chair: Ajay Rajkumar
Vice Chair: Michael Glenn Williams

Secretary: Xiaoyu Liu

Second Day Meetings: ECC Room 3; Tuesday, September 14, 2004

1. Meeting called to order by Ajay Rajkumar at 8:00AM 

2. Discussion on Technical Requirement (Michael G. Williams) 

2.1. The document for discussion is version 10: 21-04-0087-10-0000-Draft_Technical_ Requirements.doc

2.2. Discussions on Section 5
2.2.1. Emphasis on fast, service, and features

2.2.2. Chairs negotiated with other groups about ‘ESS’. .11 liaison also did so.
2.2.3. Ajay: What is ESS? There are a few definitions from 802.11. .11r will not discuss about ESS this week, 11s will do that. Talk to TGm for clarification. Liaison will do that.
2.2.4. Comment: ‘across ESS’ be changed to ‘between ESS’. Response: Accepted.
2.2.5. Q: Is there any definition of loose or tight coupling? A: We have several contributions in web server. We get loose consensus. Several people have their own opinions. We did not build consensus on this issue. 
2.2.6. Comment: Change from ‘802.3’ to ‘802.1/802.3’; That would cover all the wired/wireless in 802. Do not split wired world. Response: Accepted. 
2.2.7. Comment: Require an explanation of service continuity. The description in 5.1 and 5.2 seems slightly different. Response: Accepted. Change to ‘service continuity’.

2.2.8. Comment: ‘may ... coverage overlap’ sentence. ‘may’ means possible to provide service continuity; ‘may not be’ means impossible? Response: Change ‘handover scenarios’ to ‘handover topologies and scenarios’. 

2.2.9. Comment: L2 topology/network? Comment: Coupling refers to network topology. ‘L2 topology’ refers to radio network technology. 3GPP also  talks about tight coupling cellular network. ‘Coupling’ refers to heterogeneous networks, not homogeneous networks. What does ‘tight coupling of cellular networks’ mean? Response: We do not have a symmetric or regular charter. Comment: phrase and wording is ok.
2.2.10. Ajay: PAR explicitly say inter-802, and 802 to cellular. As the requirement is developed, we realize that two cellular may do similar fashion. We would not prevent such kind of coupling, not say ‘enable’. We would not enable two cellular networks to talk to each other. It is just a question of how to state it.
2.2.11. Yuri: If we list all technologies, the whole list, there could be any combination. If just specific examples, any combination except those seems not be supported.

2.2.12. Comment that ‘tight coupling of cellular network’ has nothing to do with this WG. Slash it. Response: It is an example. Comment: ‘shall’ means a necessary set. Response: Accepted.

2.2.13. Michael: Add “including all arrangements for AAA domain, charging domain, routing domain, subnet and L2 topology network’. Eric: Do not understand why you take these domains. Michael: AAA handles security solution. Just point out that these are the domains we need to cope with regarding coupling. Yuri: ‘coupling’ comes across explanation, not definitions.
2.2.14. Comment: Strike all the examples listed. It is better to not say something too specific. Comment: We do not need to worry about the definitions of coupling. Response: Accepted. Remove all the coupling examples. 
2.2.15. Comment: We are not “supporting” different domains, environments. Comment that we need some more contexts. 
2.2.16. Comment: ‘coupling’ is a level of inter-networking. Really tightly coupling is switching in home-network, no roaming. Comment: BSS and RNC are integrated into one network equipment. Comment: Stop talking about PP. We have some sort of group understanding. 
2.2.17.  Conclusion by Michael: Refer to some references for definition of ‘coupling’. Ajay: ‘cohesion’ and ‘coupling’ could not exist in the same time. 
2.2.18.  Yogesh: Give the impression that we are going to define coupling here.  Use ‘cohesion’ rather than ‘coupling’ in the introductory paragraph. Give reference to 5.1/5.2.

2.2.19. Ajay: ‘cohesion’, what is ‘cohesion’? Yogesh: To avoid the definitions of ‘couping’. 
2.2.20. Comment: Write a specific sentence, and add the text of different domains.  Add the sentence as the second paragraph. ‘In the case of cellular, this includes both tight and loose coupling environments’.  Response: Accepted.

2.2.21. Short Break
2.2.22. Reminder by Ajay: Add attending name to the last page, including name, company, and email address. The blank page is for the first time attendees 
2.2.23. Q: How about 802.17 in 5.1. Response: 802.15 does not support IP. 802.15 implementation would not prevent 802.21.  Michael: In section 1.2, add sentence “IEEE 802.17 standard is not supported”.
2.3. Discussions on Section 6

2.3.1. Comment: A terminology question. In IEEE 802, L2.5 is not LLC. Typically the L2.5 has “bridge function”. When someone comes across 802, he needs to bridge MACs, which is not the L2.5 described here. The name causes confusion in 802. 
2.3.2. Michael: There are many discussions about what is L2.5. We have a separate L2.5 section. We need some consensus on L2.5. 
2.3.3. Comment: The diagram does not distinguish data flow from control flow. There should be two diagrams, one for data plane, the other for control plane. Alan: No actual proposal for architecture yet. Michael: We are waiting for specific proposals for architectures.

2.3.4. Comment: Remove LLC box in the diagram, because we just get triggers from PHY/MAC.  Response: Read one proposal using LLC to encapsulation MAC frames. Such architecture is possible. Eric: This is control plane only. Response: There are SAPs, no problem of that. Michael: One could encapsulate the triggers in the MAC or IP packets. 
2.3.5. Comment: LLC is used to reliably transport triggers from MAC/PHY. Cellular does not need that mechanism. 
2.3.6. Comment: Change L2.5 to vertical bar. 

2.3.7. Comment: Move these non-binding pictures to another section. Comment: Keep the picture here. Remove anything above L2.5, replace with some handover control layer. Or make L2.5 peer of LLC. 
2.3.8. Comment that upper interfaces from L2.5 are out of scope. Ajay: We can not say above MAC. 802 can not do anything. 

2.3.9. Comment: This drawing is fine for IEEE802 family. For 802 and non 802 family, it has problems. LLC is element here. All LLCs are on top of MACs. LLC is not end-to-end function, no relay or switching functions. Alan: The intension is just to show the scope of .21. How is it done is out of scope. 
2.3.10. Yogesh: L2.5 box there is a protocol layer, or just software implementation? Alan: It is protocol. Michael: L2.5 is functional chart. Yogesh: We need two drawings, one showing protocols, one showing functional perspective. 
2.3.11. Michael shows a possible L2.5 chart. Alan: This is a peer perspective.
2.3.12. Q: Shall we discuss the name of the box? L2.5 is confusing. Comment: Rename L2.5 to ‘MIH’ in drawing. Agreed by Floor
2.3.13. Comment that this is requirement stage. People could include additional functions. 
2.3.14. Comment that protocol implies some encapsulation function. .21 does not talk about that yet. It is unclear what the functional perspective is. 
2.3.15. Michael: “upper interfaces from L2.5 out of scope”, the comment was taken out. 

2.4. Break for Lunch

2.5. A small group works on the drawings in section 6.1

2.5.1.  The small Ad Hoc group gets consensus on pictures during the lunch. 
2.5.2.  Comment that keep some time for the discussion of the conclusion. Ajay: Yes. 
3. Technical Presentations
3.1. Technical Presentation: Handoff between Different Network Interfaces (21-04-0132-00-0000-Handoff_Between_Different_Network_Interfaces.ppt) (Benjamin Koh)
3.1.1. Comment: Page 16, give an example of physical connectivity between AP and BS. Response: Some way you can transport from AP to BS.
3.1.2. Q: Why do you need two home addresses? A: One is for .11, the other for .16. Two domains may probably have two home addresses, and two home agents Comment: Home address 1 talks to .16; Home address 2 talks to .11. But Mobile IP just has one home address. Response: current mobile IP does not talk about very well. Comment: SCTP can be used to implement this.
3.1.3. Comment: Slide 10, delivered to MS. How does AP know link going-down? MS could know this, but how does AP know the link is going down.  Response: Some functions in the network, e.g. load-balancing, might generate some triggers. Q: This is the final decision? A: It does not matter where MIH is. Response: At least some set of primitives from any upper layer are necessary.  
3.1.4. Q: Why do you have two home addresses? A: A few reasons. It is not a must, it could be. Two addresses may belong to different domains. Use the home addresses for the second interface. Q: How does the CN know which address it should talk to? A: Just talk to only one. HA knows when to switch HoA. Comment: It will introduce additional routing latency. 

3.1.5. Cheng: The whole point is to send triggers to terminal. AP assists IP layer handover by sending a trigger to MS: now you need to switch from one interface to another. 

3.1.6. Comment:What about the security consideration? Using HoA in one interface, and another HoA in another interface, it is not mobile IP.  
3.1.7. Q: Who does the binding update? A: Two HA, two associations. 
3.1.8. Ben: The point is to show how the triggers help handover.  
3.1.9. Comment that triggers from upper layers has been discussed in the WG for a long time.

3.1.10. Suggested Stroll Poll by Ben: Is there a consensus that we should liaise with IETF? 

3.1.10.1. Comment: liaison to IETF and 3GPP, the process is different because we handle different protocols. 
3.1.10.2. Comment: The liaison should be more specific to IETF WG. IETF is vast.   

3.1.11. Chair modified the suggested Straw Poll: 

3.1.12. 1. Should we liaison with IETF? For: 21; Against: 3; Abstain: 2 
3.1.13. 2. Which Groups within IETF? 
3.1.14. Suggested WGs from floor: MIPv4, MIPv6, MIPSHOP, SIP, DNA, NEMO
3.1.14.1. Comment: .11 has liaisons to IETF.  Ajay: IEEE itself has liaison with IETF. .11 is the case in terms of CAPWAP. Our liaison is at the .21 level.
3.1.14.2. Comment that we are not going easily to that process. 
3.2. Alan Presented the conclusion of the Ad Hoc group on section 6.1 (21-04-0145-00-0000-new_figure_section_6.doc)

3.2.1. The new 6.1 figure was group effort by: Alan, Eric, Prasad, Raymond, Reijo, Sanjiiv, Xiaoyu, Yogesh
3.2.2. Michael: What does the blue line mean? Alan: Blue line is the data flow path. Michael: Data path does not go through MIH function? Alan: yes. 

3.2.3. Ajay: Did the group feel we should keep transport specific, or implementation independent? Alan: As flexible as possible. 

3.2.4. Ajay: In 6.1, this figure really replaces the old one. Shaded basically implies multiple MAC/PHY? Alan: It is just functional blocks, nothing changed about this, still multiple MAC/PHY.

3.2.5. Q: LLC does not terminate in the network side?

3.2.6. Ajay: Blocks are of little changes. The figure is not much different from the original one, except for the blue data path. Yogesh: Conceptually, it is much different. This is a functional diagram, not protocol, symmetric or asymmetric or both. Raymond: The basic change is to avoid the ambiguity of Layer 2.5. Alan: It is a good way of the requirement.
3.2.7. Cheng: LLC block? Raymond: The end point is outside. LLC could be in the network functionality.  
3.2.8.  Q: Why LLC can not be in the data path in the network side?   A: like TCP, only end function. The analogy carries. End point of LLC is out side of the network.
3.2.9. Sanjeev: We can just call it peer functionality.
3.2.10. Break for 20 min. Reconvene at 4:15PM
3.2.11. Ajay: It is peer-to-peer entity, rather than STA-Network model.

3.2.12. Michael: Info service conflicts with this drawing? Alan: This is just simplest case. 

3.2.13. Michael: Mobility management entity is affected by the signaling? Yogesh: Try to capture that in the upper layer interactions. Raymond: Your comment is about the implementation of centralized MIHS function?  Michael: For example, the .3/.11 use case, currently the terminal is associated with .3, unassociated with .11. When it unplugs Ethernet connection, .11 AP in range have to be selected. If try the APs one by one, it causes long latency. If there is .21 over interface, it can find with AP associated, change directly. Raymond: The diagram does not preclude centralized implementation. It is difficult for the diagram to capture all the things.
3.2.14. Alan: Upper layer driven functions, management/l3/app interface would do that. Michael: MIH does the procedure sequentially? Alan: Just an example. 

3.2.15. Comment that the policy function and algorithms are out of scope of our WG. 
3.2.16. Comment: This is a functional requirement. We do not need LLC in data path.  ALAN: The goal is to show the scope of this functional model.

3.2.17. Ajay: It could be used to submit proposals.

3.2.18. Cheng: Please clarify the triggers carried in data. Michael: Wait for CFP. Not right now.
3.2.19. Raymond: No need to communicate between LLC and MIH because LLC is end-to-end. Architecturally, LLC is always used, although there are some notions of no LLC. 
3.2.20. Alan: Two types of line: dotted line stands for triggers, solid line for signaling.

3.2.21. Comment that we do not need the black lines.

3.2.22. Conclusion by Ajay: This diagram shall not be restriction on .21. At this stage, the document is not presuming or suggesting any transport mechanism for the MIH signaling
3.2.23. Michael: MIP does not have trigger registration? Sanjeev: We need this function. 
3.2.24. Comment that we need to explain what is blue, red, dashed, solid lines. Ajay:  Yes. Add explanations in the requirements (refer to section 6.1 for the explanation. editor would take the changes later.) (21-04-0145-01-0000-new_figure_section_6)
3.2.25. Michael: Remove the boxes outside the entities. Floor: ok. 
3.2.26. Michael: Currently no agreement that how the triggers are delivered.

3.2.27. Summary by Ajay: Send the modified figure and text to editor to incorporate it in the requirement document. 

3.3. Discussions on Section 6.2
3.3.1. Tomorrow morning discuss 6.2, extend to cellular network. 

3.3.2. Ajay: Form a specific group to address the 6.2. Tomorrow morning, take the comment and the conclusion. 

3.4. Recess until tomorrow

3.4.1. Third day IEEE 802.21 WG meetings on Wednesday, 8:00AM

4. Attendees

4.1. Attendees (1 or 2 credits towards voting rights today)
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